BFEaEE
2024FE £ HXFRFERR—YHERFIERS FT1RBFHEE
HE : $f65E10817H (k) ~108208 (R)

AT BERET T A VLB
T BAFAE T A 7S EBEETE LR

< BRaKE > 1 i 3553.1 =
it STEE AR60 S1 S2 S3 S4 S5 S6 B/ XD aFt 5%
1 7 EB k3 | 1020 | 1024 | 1039 | 101.8 | 1022 | 1052 | 6175 40
2 21 A sE | 1023 | 1037 | 1044 | 104.8 | 102.8 | 102.7 | 620.7 44 |1857.1
3 13 B0 %3 | 1037 | 1025 | 1026 | 103.1 | 1025 | 1045 | 618.9 41
it STEE FR3 %20 K1 K2 P1 P2 S1 S2 B XD aFt 5
1 7 EENG 94 9 95 96 94 89 564 17
1 22 B0 9% 96 98 92 92 93 567 16 1696
2 10 R K 96 93 99 95 92 90 565 17
< BAXZE > 2 i 3543.8 =
gt S ARG0 s1 2 S3 s4 S5 S6 B XD &t Bz
1 12 24 EH | 1004 | 1056 | 103.8 | 1034 | 1029 | 1026 | 618.7 42
2 20 &S0 | 1034 | 1048 | 103.0 | 1035 | 100.8 | 103.0 | 6185 38 |1855.8
3 17 B3 % | 1030 | 102.8 | 101.9 | 1023 | 1043 | 1043 | 618.6 41
Fig:c4 STEE FR3x20 K1 K2 P1 P2 S1 S2 Bs XD &5t l-£3
1 4 |EsnEx| 9 89 95 100 93 95 563 17
1 13 EM B 90 95 98 99 89 92 563 20 1688
2 9 I 93 96 94 95 90 94 562 18
< BEBERXRXE > 3 fiz 35214 &
it STEE AR60 S1 S2 S3 S4 S5 S6 BR XD a5t -5
1 10 dit 3 | 101.0 | 1058 | 1022 | 1022 | 103.0 | 1017 | 615.9 40
1 20 MBS | 1040 | 1034 | 1017 | 1045 | 103.1 | 101.7 | 6184 43 (1843.4
3 15 #H BB | 1008 | 1022 | 1016 | 1004 | 1015 | 102.6 | 609.1 41
it SR FR3x20 K1 K2 P1 P2 S1 S2 BR XD a5t -5
1 8 EE 92 89 97 98 85 90 551 14
1 16 IEN=PN 96 95 96 9% 88 9 565 11 1678
2 8 IR B 93 94 93 97 89 86 562 19
< EEKE > 4 fx 34707 &
gt S AR60 s1 2 S3 s4 S5 S6 e XD &t Bz
3 5 =T &5 | 982 | 1036 | 99.1 | 1035 | 103.7 | 1035 | 611.6 35
2 26 H B 98.4 98.8 | 1008 | 98.0 | 1020 | 97.9 | 5959 21 | 1815.7
1 16 3 4 | 1005 | 1001 | 102.9 | 99.8 | 103.7 | 1012 | 608.2 33
Eip:d STEE FR3 %20 K1 K2 P1 P2 S1 S2 B/ XD a5t -3
1 6 =T £ 91 91 95 98 883 91 554 12
1 14 TH & 88 92 95 95 93 38 551 12 1655
2 7 BIR 75 94 9% 95 93 88 84 550 15




< el e > 5 i 3464.7 =
Eig:c SHEE AR60 S1 S2 S3 S4 S5 S6 Be XD &t -3
1 5 WA=k | 1009 | 1037 | 1022 | 101.4 | 104.4 | 1000 | 6126 35
2 14 M &2k | 1013 | 1047 | 1024 | 1034 | 1052 | 101.6 | 618.6 45 1833.7
3 24 A B | 1009 | 101.2 | 101.0 | 1009 | 100.1 | 984 | 602.5 28
Fig:c STEE FR3x20 K1 K2 P1 P2 S1 S2 Ba XD &t -3
1 12 ;SN 89 94 94 86 89 94 546 7
1 18 AT Et 86 94 90 94 75 81 520 8 1631
2 3 T &3t 94 94 95 98 90 94 565 16
< IAMEXRE > 6 i 3453.3 =
EhEd ez AR60 s1 S2 S3 sS4 S5 S6 B X% &t w%
4 He #o | 1017 | 1020 | 975 | 1008 | 1027 | 984 | 603.1 27
15 =AMNR | 1021 | 1034 | 99.9 | 1007 | 99.7 97.7 | 6035 32 11816.3
1 24 HEX 99.6 | 1009 | 102.4 | 102.4 | 100.6 | 103.8 | 609.7 31
it STEE FR3 %20 K1 K2 P1 P2 S1 S2 B XD aFt £
1 10 DU 86 89 95 97 87 85 539 14
1 15 I 89 86 96 97 87 91 546 15 1637
2 12 ElE= 91 95 94 94 89 89 552 6
< oLk > 7 i1 3345.0 =
P i AR60 s1 2 S3 s4 S5 S6 BA X0 &t iz
1 8 ZORK 101.2 | 99.7 | 1024 | 1032 | 1050 | 1007 | 6122 36
2 19 £F #8X | 102.6 | 1047 | 105.3 | 105.1 | 102.6 | 103.7 | 624.0 50 [1851.0
3 23 £ B | 102.0 | 1036 | 103.4 | 1028 | 1009 | 102.1 | 614.8 37
Fig:c4 STEE FR3x20 K1 K2 P1 P2 S1 S2 Bs XD &5t l-£3
1 20 EH B 91 95 95 95 0 0 376 14
1 5 &F FIEK 94 94 93 94 92 95 562 16 1494
2 6 ER 2¥E 91 93 98 92 94 88 556 18
< IAHKRE > 8 i1 3325.0 =
it STEE AR60 S1 S2 S3 S4 S5 S6 BR XD a5t -5
1 26 |/IMED RE:|  96.6 99.3 948 | 1009 | 1016 | 981 | 591.3 22
2 7 EHEE | 994 | 1020 | 975 96.5 99.5 104.8 | 599.7 29 |1785.0
3 10 B B4 | 951 | 1009 | 994 | 1003 | 1005 | 97.8 | 594.0 26
it SR FR3x20 K1 K2 P1 P2 S1 S2 BR XD a5t -5
1 9 |=B& &kl 87 78 90 92 80 79 506 5
1 17 B K 82 86 93 95 75 82 513 5 1540
2 5 |FmEKRE| 89 91 93 87 83 78 521 5




